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SECTION—II

Mark correctly the part of the sentences which has an
error. If the sentences are correct mark ‘D’ (No error) :

31. Donotleave yourseatbefore finishing the task.
(A) (B) ©

toc

32. . Mp_gt_‘ipv?m made of her new book.
(B) ©
No error.

(D)

33, Thedeepdepression ofthe Bay of Bengal intensified
(A) &1

into a cyclone. ‘No error.

© (D)
Mark correetly the synonyms of the following words :
34. brag '
(A) request (B) order
boast (D) question
38,
\::)?'mmoy (B) fight
(C) silent (D) sad
36. imminent
(A) immoral (B) comical

\9“ impending (D) cynic

Mark correctly the antonyms of the following words :
37. aggravate

(A) appropriate (B) appreciate
¥ alleviate (D) admire
38. onerous
(A) wanted \-B)/Iight
(C) burdensome (D) many
39. obstinate
(M pliable (B) adamant
(C) passionate (D) ominous

Language-II—English

Read the following passage to answer Q. Nos. 40 to 43 :
Human beings have proved over a very long period of time
that they are pugnacious in nature. They find in anything
and everything, from an egg shell to a nation, a suitable cause
of war, They are ready to use means and methods to champion
the modalities of war, bloodshed and violence. Obviously,
as science progressed with time, human beings were quick
enough to use science for the purpose of war.

The greatest enemy of mankind is not science, but war. It is
found that when science isused ina constructive way, it leads
to undisturbed peace, but when science is perverted to
destructive ends, it leads to unending war. Man uses science
to make weapons to make war increasingly more terrible.
Our main problem, therefore is not to curb science, but stop

" war. That is a job in which everybody must participate,

including the scientists. The hour is late and our work has
scarcely begun.

40. The author feels that the greatest threat to human
civilization is
(A) population (B) science
Ne/fvzr (D) pollution

41. Constructive use of science would lead mankind

towards \18)/
(A) misery happiness

(C) “pain (D) doubt

42. The main problem of man is to

(A) control science
(B) control scientists
u(g)(pm an end to the activities of science

put an end to war

43. To stop war, according to the author, we need the
participation of
(A) everybody except the scientists
(B) _scientists only
everybody
(D) everybody except the warmongers

Mark correctly the plural forms of the folowing words :
44. coat-of-mail
(A) coat-of-mails
(C) coat's-of-mail

) coats-of-mail
(D) coat-of-mail’s

45, oasis
(A) oasiss ot cases
(C) oasises (D) oassics

(Contd,)
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SECTION—II
Language-H—-Engﬁsh

Mark correctly th¢ "

: ﬂ'o‘l'k-
l‘:. bl:::uus wait till he _,.._-’-‘-B-:#u finishes

() will fin
pe train ___——
ped the statio® t
Sl Ry
(C) have left mﬂE( of the following words 88

4. Wb

n -
::::: ;I:lcorrecl:: :: l:: dictionary from first to last :
4. () 8P
(i) grapery

oy (i, ), (). Gi)
@ (. i, (. 0

49. () centuple
(i) centuplicate
(ilj) century

centurion

(wv)

& (i), (i), (), (i)
@) (i), (i), (iv), (i) -
(©) (i) (v, G, (ii)
) () (i), Gid), (v)

Mark correctly the change in gender of the following

words :

50. abbet
(A) abbotess “&1” abbess
(C) abbotress (D) abboess

51. prosecutor
(A) prosecutores  (B) prosecutes
N9y~ prosecutrix (D) prosecutin

Mnrl‘nal;}rml spelling from the options given below :

5. npt_:t‘it-i\re (B) repeatitive
(C) repititive (D) repietitive

3. (A) seperate
(C) saperete Wm) separalte

54. (A) consollidate (B) consollidieate

consolidate (D) consoledate
s, vigilance (B) vigi
. ) vigilence
(C) vigelance (D) vigillence

Mark correctly the appropriate prepositions that fit in
the blanks :
56. The hotel is adjacent the station.

(A) on By to

(C) beside (D) upon

Read the following passage to answer Q.Nos. 587 to 60 :
As far as theorists opine, Engish as Second Language
(ESL) consists of four fundamental skill areas : listening,
speaking, reading and writing. Out of these four skills,
listening and reading are termed as Receptive skills, while
speaking and writing are called Productive skills.

The idea of evaluation grossly involves three zones of
jearning : Understanding Zone, Application Zone and Higher
Order Thinking Skill (HOTS) Zone. In case of the two
Productive skills, it is easy t0 evaluate the learner vis-a-vis
the three zones of learning, because the product that the
learner produces through speaking of writing is, in a sense,
tangible, visible, and hence, measurable.

The problem of the teacher lay in the evaluation of the
Receptive skills, because the demonstration of these skills
are not overtly reflected in the behaviour of the learners.
The challenge for the ESL teacher is to set activities which
will not only cause the learner to exercise the Receptive skills,
but will also be clearly and overtly reflected in the

. demonstration of these skills through behaviour. This problem

that the ESL teacher faces is again divided into two parts:
firstly, there is an uncertainty about the skills involved in
listening and reading which the teacher is_interested in

 evaluating; secondly, even if the teacher ascertains a particular

20-FAU

skill to be evaluated, it is difficult to know whether an item
has succeeded in measuring it.
§7. Number of Receptive skills in ESL, as mentioned
in the passage ‘(\3‘)/
(A) six (B) four two (D)nine

58. The ESL teacher finds difficulty in evaluating the
(A) Productive skills (B) ,HOTS Zone
(C) Application Zone Receptive skills

59, The skills that are difficult for the learner to
overtly reflect in behaviour are
(A) listening and writing
(B) reading and speaking
listening and reading
(D) reading and writing

60. According tothe passage, the challenge of designing

an item to measure Receptive skills is ;

(A) the skills are overtly reflected in behaviowr of
earners -
the difficulty of knowing whether an item has
been able to measure the desired skill

(C) the unwillingness of students

(D) none of the above

(Contd)



sl

BEA Ny
CAB v hpmon & 1A

Euglon benvioy

Which of (ke Rilw
wacher f LRe lwachay
A\ Really wieresied W sty

() Abe W drenh Al dis e sietenis

() Rehuntant ko mbapt Risise 1 i e athiaiiog
D L abanit s Won waih

sAte e dues wol auil o

The student who hoopa om nabh g questhiig (n the

Clasn

(A) shouikd b ke W et W fom et altes (he
Vhass

(B oMKl b e aniragest i parki pate Wyl
s i

() should be eavautaged u Bl anenens
wkopendont by

() shoukl be saponraged v vantine fuvaiiniiig

Which of the flluwing & not & canss ol fargeiting 1
(A} A change @ an v hiual's atiinle

(B) Interfusace vaused by batar feaniing

W) Lapse o passage wl i

() Reprossed memaries o exparivines

tn which book did Roussean plead aatnie sentilv
alucation ?

(A)  Nature and Fduoation

\B)  Emile

(1) Ehcatimal wivive

() Philosophy of edupation

A aruer i your olass tells les frequently, Ax o

teacher, which of the fallowing stepa will you adupt

® correct hev him ?

(A)  Advise her him ot W tell a lie

(B)  Try 0 find out the cause betind her i telling
lres

(C)  Punish herhim for telling lies

(D) Call herhus parents goardians and skl hen o
the parent toacher meeting guardian teavher
Mesting

Which of the fullow ing 1+ not (he taw of Thorndihe's
Triat and Eveor Theory of Learning *

(A)  Law of Exercise

(B)  Law of et

(€3 Law of Readiness

M) Law of Applisation

1 FAU

1]
higg)

Bosignht Vsisinny

LLI UL TSI Y
R R TIRT
VAL W00 RN 06 e il s
i) &iw sl oty LA T T AW ¥
LEL RIS RN
NEY T e i B g b e s
LR Tn i o W s
L1 m.mmulm PN P I Ry s ey
(AL W R @e s e iy s g
WAL wF) Rlps |
N’"! W8 TN i s e e
LRI RS T U
() SEUN S Pisin o boen oo oy S afh g
LU
TR LT LRI RTTCL BRSPS
00 TRATRD R INR wim) crinth IRy whes wy o
NeA) MR Sl ST
() RN i i el yf Sy gy
TR i EELEIECT
(1) Sanlhm e o wlows
T R AR S A AR Rl SRl ol
(A) RN W g
Ny A
(1) Wyresnis A
(1) Trtriiely Sow argress
Mree it i e sosiesyng Sessns
wiNi oinfd et waran ¢
TIPLGALLIE LR L ki
\Mmmnm“mﬁan‘ﬁ
A
() TN W) i won wrow wl ro
(1) - M’Mmmm,.
i oo e fewy =gy Rowe
faayn egom
oo fefrening v o) afelions W ¢ o
(e L LR LR
(A) w99
() wewrites T
(), wyfm e
q»( DT I o

|-J‘ Py $%8 5

(€ mwid )




b .

Ll

_ SECTION—III
Child Development & Pedagogy

English Version

67. Inaclassof mixed ability learners what will be your

strategy for group division ?

(A) Dividing the class into different groups according
to their roll-numbers

(B) Dividing the class into different groups on the
basis of their regularity in class attendance
Forming different groups with learners of mixed
abilities

(D) Forming different groups exclusively with
advanced learners and exclusively with slow
learners

68. Good teaching implies —

(A) Possession of higher academic qualifications

(B) , Holding research work
Having good knowledge of his subject and ability
to deliver it

(D) Strong personality

69. Heightened emotionality during late childhood may
come from :
(A) Environmental causes
(B) Physical causes
()" Both (A) and (B)
(D) None of these

70. CCE stands for :
(A) Continuous and Comparative Evaluation
(B) Continuous and Co-operative Evaluation
(C) _Continuous and Competent Evaluation
Continuous and Comprehensive Evaluation

71. According to which psychologist, between the ages
of five and twelve years, children’s rigid and
inflexible notions of right and wrong become

modified ?
(A) Dalton (B) Piaget
(C) Maslow w7 K:igllbem

72. Good T.L.M. should be of :
(A) High cost and interesting
(B) _High cost and relevant
\LQJ’Low cost and relevant
(D) None of the above

73.  Which one is the first agency of education ?
(A) The primary school where they learn how to read
and write
Home, the nucleus of society
©) CT}: c;‘t_l;:ority which controls the process of
(D) The play way method of education

22-FAU

Bengali Version
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69. oS IMIIIN HWITACHA 5IW 2AFT WY

B) igdy TET |
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70, CCE-«¥ *ja uifd o :

(A) Continuous and Comparative Evaluation

(B) Continuous and Co-operative Evaluation

(C) Continuous and Competent Evaluation
NP7 Continuous and Comprehensive Evaluation
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74.

75

76.

7.

78.

79.

SECTION
~III
Child Developmeny & Pedagogy

English Version

who first of all, revolted against the
and formal system of traditional ed“g::;l: ;erbnl

(A) Rousseau (B) Froebel
©) Herbart (D) Plato

A child can be called a creative, if he/she has the

ability of
(A) Fluency (B) Flexibility
(C) Originality (D) All of the above

Which of the following concepts is not associated
with !’iagetfs tpeory of cognitive development ?
(A) Assimilation (B) Accommodation

©) Association (D) Schema

The modern approach of
special educational needs
in one of the following—
(A) Special schools (B) Integrated schools
(C) Inclusive schools (D) None of the above

Which of the following elements is least important

in the learning process 7
(A) Syllabus (B) Teacher
(C) Environment (D) Cooperation

What will you do as a teacher, if a student does not

attend your class 7

(A) Blame that student for his absence

(B) Keep quite considering the present attitude of
that student

(C) Think of using some interesting methods of
teaching

(D) Know the reasons and

n evaluation of his/her

educating children with
is to accommodate them

try to remove them

A teacher is efficient i
students, if he/she is:
(B) Lenient

(A) Strict
(C) Objective (D) Prompt

Which of the following is not any characteristic of

drive ?

(A) It is the energy W

(B) Itis gpeciﬂc goa
organism

(C) It generates aggression in human nature

(D) It is internal tissue condition which releases

energy and finally leads to activity
What we forget and what we remember depend op

our motives ? This is called:
(A) Retroactive Inhibition
(B) Emotional Amnetia

(C) Neurogenic Amnetia
(D) Proactive Inhibition

hich moves the body
| directed behaviour of the

23-FAU

Bengali Version
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84.

87.

88.

89.

SEC

Child Devetopmeny

English Version

A slow learner atten
responsive munner,

(A) Make les :
(B) extra ':::'h)‘:‘;m:?’ “mple and spare fome

:‘ﬁ?ﬁﬁz‘?ot like to spoil majority for (he
©)
(D)

ds your class and si
What will you do 7 " "™ * Mon-

You pressurize the student 1o | .
You will not help him/her at al?av. the clasg

Development of an individual de
two of the following four factors,

is the most appropriate ?

(i) Heredity

(ii) Environment
(iif) Language ability
(iv) Imagination

(A) (i) and (ii)

(C) (i) and (iii)

ends upon an
hich of the pulrz

(B) (i) and (iii)
(D) (i) and (iv)

Which of the following is a general characteristic
of attention ?
}g) It is a faculty or power of mind

)

It cannot be centered around any object for a
long time

(©)

(D)

It does not shift one to another
None of the above

The nature of child’s complete development is

(A) Psychological

(B) Physiological

(C) Psycho-physiological
(D) Biological

Writing on the board and drawing pictures are
necessary for a teacher which goes with his :

(A) Affective skills (B) Psychomotor skills
(C) Cognitive skills (D) All of them

Which of the following aspects of a teacher
influence a child’s development most ?

(A) Age of teacher

(B) Gender of teacher

(C) Academic qualification of teacher

(D) Relationship with the child of a teacher

Which of the rollowlnﬁc?hlrlmriltlu is not found

in 2 mal-adjusted chi

(A) Destructive tendency towards man and nature
(B) Introvert tendency -

(C) Timidity

(D) Appreciation of others properly

"RTE Act-2009' guarantees quality education for
Iall cll;lldren up to the age of 14 years. Here quality
mplies

Eg; Use of high cost TLM

Relati

classroom to the real world
(D) Impo

discipline

NMON-11y

& Pedagogy

Bengali Version
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SECTION_y
; Marth ?

English Version T

= S Bengali Versiop
- 100000 ~
22)) 7000000.0009  (g) 700000.000009 . TRIN—- 101:100 x
x 700000.0000? @) 7000000.00009 (A) 7000000.0009 (B) 700000 000009
AARC, the straight line paralle] to the side BC (C) 700000 000000‘

meets AB and AC at the i : s

points Pand Q respectively,
AP=QC; the length of AB is 12 units and the length

of AQ is 2 units, How many units js the length of

CcQ?
(A) 6 unit (B) 4 unit

Side AB of cyclic quadrilateral ABCD is produced
to the point X. If ZXBC = §2° and ZADB = 47°,
find the measure of /BAC.
(A) 25° B) 30° (C©) 35° (D) 40°
Simplify
0.835x 0.835x 0.835 + 0.165x 0,165 x 0.165
0.835x 0.835-0.835x 0.165 + 0.165x 0.165

(A) 0.67 (B) 0.138
©) 5.06 (D) None of the previous

1 B3 NG 1
- 55‘[’5*{:“5[3‘3'5)}]

1 1 1 1
W s &350 T O 3

According to the given diagram, how many
different paths can be taken to reach from Kolkata

to Agra ?
Kolkata —»~C,_ X, D3>+ Agra

© s M1

(A) 7 @) 12

(000362 ) __
(0.04)(0.1 )(0.003)
(A) 840.0 (B) 840 (C) 84 (D) 084

In the following numbers supply the missing digit
so as to make each a multiple of 9
30*4, 573*1, *6708, 836*S7.
(A) 9.2,6,7 (B) 2,2,6,7
©) 2,9.6,7 D) 2,269

27-FAU

106. mc-mncwmmmmue AC s
T P8 Q e cow w7z
AP = QC; AB-a7 =§; 12 4% o AQ-aw W 5
9FF, CQ-. i 7% g ¢
(A) 6« 4 93T
C) s5a (D) 3 a%e

107. ABCD 3% 59€0e@ AB T X R s ¥ v
T ZXBC = 82° @3 ZADB = 47° ¥w, ZBAC qv
Wi fofy =7 .

(A) 25° (B) 30° b}/as (D) 40°

0.835x 0.835x 0.835 + 0.165x 0.165x 0.165
0.835x 0.835- 0.835 x 0.165 + 0.165x 0.165

(A) 067 (B) 0.138 :
©) 506 Wmmm

o o st fo (5 7))

1 1 I
\w's ® 3 © 3 O ;
110. 2ws B i, swre! (e W sorey Riew
CoTEITAT e ¢

v —>-C OO
(A) 7 12 () 8 (D) 1

(0.0036)(2 8) _
1. 0,04)0.1 )(0.003)
840.0 (B) 84.0 (C) 84 (D) 0384

108, o 3w

112, e FTS $T91 ST Q¥R (O WE TATW HewTefin

fwTer A t el W
s 304, 573%1, *5708, uf;sv.
2.6
A) 9,2,6,7 y 2.2,6,
gc; 2,9,6,7 (D) 2.2,6,9
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93.
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SECTION—IV
Mathematics

English Version
Highest common factor of 361, $21, 811 is
W7 1 ©1® @O

Arrange in order of magnitude (decreasing order)

27 118 148
87 341" 428
A) 145 118 27 118 145 27
W 8w 341488
27 118 145
©) 87 341" 428 (D) None of these
19
3 men and S boys can do 20 of a piece of work in
14
3 days; 4 men and 8 boys can do 15 ofitin 2 days;
in what time can a boy do the whole work ?
(A) 20 days (B) 30 days
(C) 35days (D) 40 days

A and B can do a piece of work in 5 hours; Aand C
in 4 hours; B and C in 3% hours. In what time can

A alone do it ?

4 5
12— 12—
(A) 53 hrs. (B) 53 brs.
6 7
12— 12—
(©) 23 brs. (D) 12 T hrs.

Find the greatest and the least numbers of six digits
which are divisible by 27, 45, 60, 72 and 96.

(A) 997920, 203680 (B) 998920, 203680

(C) 997920, 103680 (D) 998720, 103680

7 men and 8 boys can do a piece of work in 2 days;

, 29
4 men and 12 boys can do % of the work in 1 day.

In what time can a man do the work ?
(A) 27 days (B) 28days

1
28—
(D) 36 days

1
© 27_5-6_ days
Simplify
32x32+2.8x2.8-6.4x2.8

16x1.6+2.4x2.4+3.2x2.4
(A) 0,001 (B) 0.01
© o1 D) 1

25-FAU

Bengali Version

9. 61, 821 aue Bl| @9 19 @ g

9.

93, 3w-wmwmﬁmsmmcm~ummﬁ

94.

9s.

96.

W 7 W1 o© 1 o 1

Rl watcre force wiow snipries omy ey ovce camy
27 118 145
87" 341" 428

A 145 118 27 118 145 27
28°341'87 3417428 87

27 118 145 :
(©) TRETTIVT (D) aefm corldy sy

19

o 3 fReR oot w; 4 O sjofavE e @ 8 O e

14
& B 15 W1 2 frw wom w0 9vow e o

NN & T AR PAR ¢

(A) 20 Rew 10 R

(C) 35 fem (D) 40 fw

@%b ¥ Ag B 990 5 T, A @ C SR 4 T G
B8 C Q%@ 3% IO o IS AT A 9T 3G

N @ BN FVH FACS A 1
4
s JE
\m/l_z3 w0

© R W (D) 1255 W

b wE W 2 Q1 TN AT SR @ AN
I 27, 45, 60, 72 '@ 96 WA ST ?

(A) 997920, 203680 (B) 998920, 203680
NG 997920, 103680 (D) 998720, 103680

7 O 7 @ 8 B I (7 3 2 e oo 3T, 4 o

3
(B) Iz-ﬁvml

Wﬂlz“mﬁmgmlﬁmw

IR | O I FC A & FE TR IR
(A) 27 f@ ) 28 fw

! 1
© Vg fm @O 2 fw

¥
32%x32+28x2.8-64x28
1.6x1.6+2.4x2.4+32x2.4

(A) 0.001 ) 001
©) ol D) 1

(Contd.)
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SECTION—1V

English Version Malbematies
Wi O 10100 +0.00 % 0.00 < 0,01 Bengali Version
0.250.250.2 + 0.02 x 0,02 x 0.02 98. 9—'-’52-'1‘_"“001xumx001

P82 (M) 021s  (©) 0.128 (D) 1

o __0.07 X {0.07 x 0.07 4 1)
w 07) < (0.07) x(ﬂ 07) x(0.07) -1 y

I7) X (0.07) - 0.07) x (0.07 +1)
(0.07) % (0.07)

W 07 (©)

(z 3](4_:]__ N
GGG+ e 5

1 4

]

ity

0.1 (D) 1|

1l 12 13 14

s @ 35 @ 35 @ 33

) has 599 bananas to distribute, if a monkey
atlehsta donn bananas, how many monkeys
st can be fed ?

(D) 50

509 (B) 12

©) 49

e L §x100+7x1000=
100

(B) 8700.097
(D) 7800.097

7900.078
780.97

2
|I 1010 x30 ¢+ =1
o X 10x10

1
10 x 10

4300.0021
430000.21

+3Ix10x10 x10 =

(B) 4300.021
(D) 43000.021

26-FAU

0.2x0.2x0.2+0,02%0.0 0

2x0l]2
(A) 0.512 (B) 0.215 0.125 (D) |
007x{007><007+l)

™ wa
(0.07) x (0.07) x (0.07) % (0.07) -k

{(0.07) x (0.07) ~ 0.07) x (0.07 +1)
(0.07) x (0.07)
(B) 0.7 (C) o.1

6D
GG 606
(A) (B) l-% M/l% D 1

101. ™ &%

o)

Ml Sk =l
3 s

11

A 7 1

1,
2

]

x-.
38

ll
57

s

SE7gd=) §
13

Uy 12 R’

(A) 35 35 (C) 35 (D) 35

awﬁﬁmm«mmmmviv

we| 9 AN FPNE 4F TOF I AT

creT! T 1
12 ?6(49 (D) 50

(A) 599 (B)
%+ 8x100+7x1000=

7
— —

(B) .8700.097
7800.097

102.

(A) 7900078
(C) 78097

2
104. 4x10 %10 x 10 x 10 + —— 10 Iﬂ

————l—'—'—"
10 x 10 x 10

(A) 4300.0021
(C) 43000021

+3x10x10x10 =

(B) ,4300.021
43000.021

(Contd.)
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o (3-3fi- -

114. In division process we have

Mathematicy
English Version Sincaedl Vi
engali Ver
o (s il i) et
4 |
sV fMY B . 1.0.0 8 I 1
—!“! ‘ N1 1y [I|J‘4][3‘J’)'4'4']] ]'Jl i
(A) (3 4.](4*'5][2' 3_] (l ']( ( y
I Wt 4
1 N~ a A {374 4'2): )
W’/fa*Jh*z](z*s] Sl
. N ()
(Il)(l;l,] _|i__| Y 4)\4a 20 2 )
© G IAe™IN3ts ] (

Dividend = Quotient + Divisor - Remainder
B ividend = Divisor x Quotient - Remainder
Dividend ~ Remainder = Divisor * Quotient
Dividend - Quotient = Divisor x Remainder

us. ln division process we have

A) 0 < Divisor < Remainder
B)_»0 < Remainder < Quotient
. 0 < Remainder < Divisor

0 < Quotient = Divisor
116. Least common multiple of 541, ll00 2087 Is

A) 1109 x 2087
& 1129067 \fp;’m x 1109 x 2087

117. Simplify “'“—"!T'
14—

1+ :
7

13 s 1 19

A 3 23 © 73 O 3
. 1422%22+433x33+44x44+2x 1.1
2 CL1x33 42X L1XA442X22XA3

x33x44=
8 91 (C) 100 N»’Hm
1. 2.2 L]
A 2 +3x
+ X 7.7 % 7.7
5. +6x 1.1 x
1

B) 131

o
num

¥y %R;T?:‘rlufo::n:g:r‘:g prime ll'ld the second is

(B) ‘l:-‘?rTmmbur is composite and the second is

bers are composite
v Eéﬂ"?ﬁe"‘.'."ﬁmﬁn are prime and they are

mutually prime

x 1.
2.2+
x 2.2

2x
x44+2
1

119, 1 +

x

3x

1

18-FAU

(D) []'*4

114, Wi «sfoce wvm i,
(A) WION = WU | SO ST
(B) 101 = @er® x wiorpe  wiopm
\(w/:m WO - 10T x Wi
D) I @1~ SO x STy
115, Wi *wfbre what =
(A)_A) < S1ore < @veT () 0 < S « wisron
0 < 0T < e (D) 0 < $ITPN < e
116. 541, 1109, 2087 an ;% » a#
(A) 1109 x 2087 (B) 899969
(C) 1129067 541 = 1109 = 2087

e ———

117, vam o9 1+ '

1+
)
|+1
1 is 17 19
(A 33 23 © 5 ™ 5

L1 +22%2.2433%33+44%44+2 %11
Al lg!-‘-lulIIJJ+1HIII¢442ILZ‘JJ+
‘22“‘+:Ii‘3u‘)‘-lﬂo 121
n 91 (C
Nt I(|)¢22N22!22+17~??t7?4

X »

e }:L::II!ZI+JIIIN11!11+J-ZIh12
n1,7+3x13n17111+3u77377u||+,’!
LIXLIXTT46% 01223577
(A7 1113 @) 1313

1331 (D) 211



121.

123.

124.

128.

126.

127.

128.

129.

(D) Mango, Papaya, Sal

L S

SECTION—V

English Version

The river
Kolkata i;_con.“ud with the wetland of East

gg; .Ii_hmodor (B) Mayurakshi
20 ?}sla (D) Bidyadhari
s the following are wild animals ?
) Sheep, Horse (B) Horse, Goat
(C) Tiger, Snake (D) Goat, Cow

Which of the following trees are mangrove in nature?
(A) Banyan, Jarul, Sal

(B) Sal, Teak, Oak

(C) Byne, Garan, Ganwea

"lr':: first Education Minister of Independent India
(A) Bhim Rao Ramji Ambedkar

(B) Maulana Abul Kalam Azad

(C) Jawaharlal Nehru

(D) Mohandas Karamchand Gandhi

DOT is applied for treatment of which of the

following diseases ?

(A) Cholera (B) Typhoid

(C) Tuberculosis (D) Hepatitis

Which of the following parts are connected with

digestive system of human body ?

(A) Lung, Trachea (B) Heart, Artery

(C) Stomach, Intestine (D) Kidney, Urinary bladder

Match the Column I with that of Column In:
Column I Column I

I.
2.
3

A.
B.
€.
®

Purulia
Howrah
Coochbebar

Santragachi Jheel
Sahebbandh
Rasik Beel

1-A, 2-C, 3-B

A

1-C, 2-B, 3-A
(C) 1-B,2-A,3-C (D)
Which of the following statements is correct ?

(A) Tibiaand Fibula are extended from Hip to Knee.
(B) Humerus is extended from Shoulder to Elbow

and Femur from Hip to Knee.
(C) Ulna and Radius are extended from the lower
(D)

1-A, 2-B, 3-C

portion of Knee (0 Ankle.

Femur is extended from the lower part of Knee

Which of the following pair

(A)
(B)

(©)
(D)

to Ankle.

Names of the Towns

Jhargram, Bishnupur
Dankuni, Kalimpong

Baruipur. Raiganj

Balurghat, Tamluk

is correctly matched?
Names of the Districts

Burdwan, Birbhum
North 24 Parganas,
Howrah

South 24 Parganas,
Urtar Dinajpur
Darjecling, Jalpaiguri

29-FAU

Environmental Science

Bengali Version
121, off worerem wenglum wow g 0% e

(A) ST (B _yged
(C) fom oy fened
122. Mroow et wr ol o
(A) o9, CTGl (B) OOyl wim
s, (D) ™, (1w

123. Mcsw el wiwtare ergfon mu y
(A) 0, Wi, W=
(B) , (e, @9
A&, o, clem
(D) =, cefesl, =1 "

124. 0% wharew zew Fen® oW —

(A) Swae wmfer wmey
\m/mﬂmwmm
(C) weToTP (s

(D) CATZAHPY FAWB T
125. R Sffie armelm comia fifeem swwe wfy

" DOT ?
(A) e (B) VRUmG

\Le)/'m (D)

126. NFRIRTE CMBT TTww ATK AHA (WA WCHOT YT 1

(A) Jqreeh (B) @S, ww

s, W (D) . yauf
127, AP 1 A I @@ o et Rew e

R maf 1l

1. omfm A. oy fem

2. eV B. mzadn

3, conREm C. b fan

(A). 1-C,2-B,3-A (B) 1-A,2C,3-B
1-B, 2-A, 3-C (D) 1-A,2-B,3C

STt $1y (V@ TR @t frwma cora curw &7
oy fys|
(C) eI @ Cafeam A5 care ot ondy feps:

(D) fraa &1 B (T e ol ey

129. Mewx com ol fewwma o
wae forg a9 corrreftTy &M

(A) s, e - v Bag
(B) _ qrforeie — San sfgem e, wioy
. wfiw ftet waren, B hecerm

(Contd.)
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English Version

130 Gaseous ovides of which non metallic elements are
preseat in smoke ?
(A} Sodium, Potasstum, lron
(B)  Sulphur, Nitrogen, Carbon
(€} Alaminium, Copper, Iron . >
(D) Nickel. Cobah, Mercury
131, Which of the following trees grow in high altitude
mouniain area ¥
(A)  Palash, Banyan, Teak
(B)  Mango, Jamun, Garan
(€) Oak, Birch, Rhododendron
(D) Garan, Banyan, Hetal
Which one of the following would be formed if
water vapour accumulates on the surface of dust
particles ?

15,

(A) Star (B)  Planet
(C)  Galaxy (D) Cloud
133, Which of the following animal is found in the forests
of Darjeeling ?
(A) Red Panda (B)  Wild Ass
(C) Zebra (D) Olive Rigiey Turtle
134. Which of the following ‘season’ can be identified
by the song ‘Darun Agnibane re' ?
(A) Winter (B A
(©) Summer (D) Spring
135. Which of the following diseases can be cured by
using the extract of ‘Vasaka'® leaf ?
(A) Cholera (B) Tetanus
(C) Coldand cough (D) Malaria

136. Which of the following animals are critically
endangered ?
(A) Cow. Goat N/
(B) Goat, Sheep
(C) Pig, Horse

(D) Tiger, One-homed Rhinoeeros
137. Being a teacher of Environmental Studiéywhich of
the following foods would you suggest to eat or
drink as source of energy in human body to your
students ?
(A) Vegetables, Carrot, Tea, Water
(B) Milk, Potato, Egg, Butter, Rice
(C) Tea, Jamun, Vegetables, Water
(D) Beet, Turmeric, Tea, Water
Which one of the following is responsible for
causing skin cancer ?
(A) Melanin (B) Vitamin |
(C) Uhra-Violet Ray (D) Carbon dioxide

138.

30-FAU

Environmental Science

Bengali Versian

130. OINIC® (14 (@4 WaTEd o wails win My 1
(A) onifbmw. *hiwny  aiges
-

NBY A, AR e
(C)  wmuleanm, @vin, wiks

(D) Mg, (e1a%, §iels
131. Rooa com nweln $w vide wewm ey
(A) *™i% &, (%g«
(H) w1 e vais
NY 0w, A, ST
(1) vaw, ¥ wem
132, yoois wrte wiow el o ey Bog ceedB Cofy

w0
(A) #wa () wa
(C) wwry Uy
I.u.\;?" wwem Mina oot a oo wiw g
S (B) 9§ iyl
(C) ool (1)) wiong tesm Hibe

134, ‘i wiwares o efS ool wigs ofavive o
(A) #w (B) wax
v (1) 9w
135, are wnwia Frli Moo oo aanin Wiy Aiaioe aaele
wu o
(A) ®ma
(B) B
&7 Wk o wifn
(D) wizwtaw
136, Meow cwm eifale wfemenbromeice v ¢
(A) N, s
(B) W™, coyl
(C) _sramm, cangl
\ﬂj/m. e LT
137, ofiva feuna ffewe)/foaws fiwicy wisin nigeifion
e Sam [o1ca Mova (919 NITO LT M08 WA 1
(A) el sren, o, o
wu, wep, fw, Wi, wre
(C) o1, o, =onf, o™
(D) W, qoge, o1, om

138, Moo ool woon wiwcan e vl ¢
(A)  owenfim
() _ fnifim
\m’w o afey
(D) oy WIRANBS

(Contd.)
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143,
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14S.

146.

147.

1“.

149.

150.

. Asa teacher of Environ

o T
SECTION—-V
En vironmentq] Science

(A)... Mango (B) Cinchona

(D) Tobacco

« Which of the following ani

Possibilities of ensuing rain ? mals can guess the
) Doy ®) Ant
(C) Cow (D) Hen

: mental Stud
following would you s udies which of the

Cholere® uggest for the treatment of
(A) GPS (B) BRS

(C) NRs (D) ORS

mi’li:: ;!‘ the following pollutants causes soil
(A) Cowdung (B) Skeleton of Fish

(C) Plastic D) OldP

Caterpiliar is " ~ .
(A)  An adult insect (B) Larval stage of insect
(C)  An adult mammal (D) An adult bird

Which of the fo
air pollution ?
(A) Malaria, Cholera, Typhoid

(B) Tetanus, Arthritis, Diabetes

(C) Diabetes, Hepatitis, Leprosy

(D) Bronchitis, Emphysema, Asthma

Arabari is famous for —

(A) Conservation of mansion

(B) Joint conservation system of forest

(C) Conservation of one-horned Rhinoceros

(D)  Conservation of tiger

Which of the following plants are source of
materials for making clothes ?

(A) Chatim, Banyan (B) Bael, Mango

(C) Hemp, Jute (D) Chatim, Mango

As a teacher of Environmental Studies you have
shown the following pictures of animals to your
students. Which of them possess feather and scale ?
(A) Tigerand Toad (B) Toad and Earthworm
(C) Snail and Starfish (D) Pigeon and Shark
Which of the following animal has become extinct

llowing diseases are associated with

from earth ? :

(A) Blackbuck (B) Olive Ridley Turtle
(C) Dodo (D) Lion tailed Macaque
How can a metal be identified ?

(A) Repeated loud ringing sound is not produced if
beaten by something

(B) Does not glisten :

(C) Not heated very qulcklyf ,

(D) Sound is produced, glistens and heated very

ickl
Whicl?:;‘f thz following is not orlgl_nated from skin ?
(A) Fur (B) Hair
(C) Blood (D) Feather

31-FAU
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Bengali Veryig,,

(A), =y B) Py T
() e (D) wmm

140 WWWWWWW,
A) @) Fomg \ -
©) ot (D

141. Mt Ryt e /vy ) T;nmm

Mmemmf

(A) Gps (B) BRS
(C) NRS | “ORS

142. A5 qﬁwgr
(A) _omm (B) wmwa &1
W e D

143, Swarstst g F -
(A) _aofh oot orom
\BY” oo o)
(©) oz sffars wyonh
(D) @3f sifers oy

144, ) Twvm 7% Meww @ ameT s ¢
(A) mrfEm, owmn,  (B) Bmr, wentx
“oRTme

(C) srmal, mm‘h# e, axemon
R

145, oy R ot e —
(A)  OMy weams
MY 37 Heww qaw
(C) % ror ey
(D) =g ez
146. AT @ MMwefr T cirtre Defia Boma et
e
(A) =few, 9% (B) o, =y
N2y =, ot (D) _wifw, =
147. #frt feuta Pt/ fres Rowe iy Ruffis
ahelin et Prwilica oo et @memm
"% @ wh e ¢
(A)#IT @ FE ANS  (B) e aae (Ft
' "NF 93¢ TR TR Ot 9Ied
148. A5 1w AR R cwre Ry wow o v
(A) (B) wfre farsem biom
m (D) omww (DR wreTe
149. A I ¥ e
(A) fooy fira Biber e, R o wneme v @
(B) &% ¥ |
c YTy o qu A
\&xemm“,mmmtwm“
150, 57 oS gt cvre Seotm ww A

(A) ® ™
\e)’}:; (D) ewe
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